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- Consider two metals with specific charges ky and k,, respectively. Thaions of the first metal h
mass of the ions of the second metal and 3/2 their charge. Which of the following is true?

| |

O ak=2Kk
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One metal has a certain specific charge given by k. The ions of a second metal have twice the charge of the
ions of the first metal and 3/2 the mass of the first metal. Which of the following is true, where k; is the specific

charge of the second metal?

O a.k =(4/3) ks

® b.k, =(4/3) k

:3 C. k} =3 kg
O d. ko = (3/4) k
’:: 20 klz =3 k]
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